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n (%) ?2 (%) 22 H-W test?

( ) B/B B/b bib p B b p p
(393 6(1.5) 17(4.3) 370(%4.1) 034 203.7H5)7M 6 . B <0.01
BUA T>-2(195) 2(1.0) 6(31)  187(95.9) 102 .3@)0 7. 4) <0.01
BUA T<=-2(198)  4(20)  11(56) 183(92.4) 104 38)M5. 2) <0.01
(273) 6(22) 15(55) 252(923) 018 2 {7 4 .59()% 5. A0 <0.01
BUA T>-2(144) 2(1.4) 535)  137(95.1) o 3.217P6. 9) <0.01
BUA T<=-2(129)  4(31)  10(78) 115(89.1) 187 .20000 3. 0) <0.01
(120) 0(0.0) 2(17) 118(983) 083 2( 0.2838 9 .0B)" 0.93
BUA T>-2(51) 0(0.0) 1(20)  50(98.0) 1( 1.100§19 9. 0) 0.94
BUA T<=-2(69) 0(0.0) 1(17)  68(98.6) 1( 0.1737 9. 3) 0.95

a. Hardy-Weinberg equilibrium test Goodness of fit

b: Fisher's exact one-tailed test



